
BC1235     REV 2
9/27/20164FT BENCH INSTRUCTIONS



C

D
2

BENCH ENDS B

4
SEAT SLATS

A

B

E F

G

8
1/4" LAG SCREW

REQUIRED TOOLS:
-(1) 7/16" SOCKET
-(1) #2 SQUARE DRIVE

7
Seat Slats NOTE: It is important to keep all hardware 

finger tight until assembly is complete

8
#8 x 1-5/8" SQ. DRIVE SCREW

8
1/4" FLAT WASHER

4
BENCH ANCHOR

4
#12 x 2" SQ. DRIVE SCREW

4FT BENCH INSTRUCTIONS

INCLUDED HARDWARE & 
REQUIRED TOOLS FOR 
ASSEMBLY 2/5



DETAIL AR
SCALE 1 : 5

D

C

A

B

4FT BENCH INSTRUCTIONS

BENCH 
ASSEMBLY 3/5



Place the bench upside down on a soft 
surface.
Locate Bench Anchors (G) off-center at 
each end of both center Seat Slats (A) to
avoid hitting the Lag Screws (D).

E

F

G

4FT BENCH INSTRUCTIONS

BENCH 
ASSEMBLY 4/5



 39.38 

 3.50 

 3.50 

 4.25 

 15.00 

 7.00 

 17.25 

 3.50 

 47.88 

 15.00 

4FT BENCH SPECIFICATIONS

SPECIFICATIONS 5/5


	COVER
	Drawing View106

	PG 2
	Drawing View21
	Drawing View67
	Drawing View88
	Drawing View89
	Drawing View107
	Drawing View119
	Drawing View120
	Drawing View121

	PG 3
	Drawing View108
	Detail View AR (1 : 5)

	PG 4
	Drawing View116
	Drawing View117
	Detail View  (1 : 6)

	PG 5
	Drawing View110
	Drawing View111
	Drawing View112
	Drawing View113


